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Topic: Secon 40A

eq Ayush woods Purch on 1513 /2023 for 1,00 ,000 On Creat

Payment to be made After 2 Months .

By 2022-23 Ayush purchases <credit allower or due
↑12 basis

.

·

To Puch 100000

145- you and Ele to creator by crossey cheque

3 . 40 ACA) => Ele deemed Frione up Purp .

&



⑨ Moralisha Goods Purch from Devika (Sistu of Moralichal

cal Goods Duch =90001- /FM
= 10001 & & mut to

ay
&evika In cas 19000 In a single day ,
show Ton Implicator

S . 40A12) - Excessive paymut to quatue is disallower
12000 bec . paynet disallow & Exp allow =Two

(D) Goods Purch = 19000 / FM= 17000, & & mut to

Devika In cas =19000 In a sig day .
show Ton Implicator

⑭ S .40 A12)= Exc . Paym , to Relative = 2000 disallowe

S-40n(3)=Payn Exceed 10000 through Mor-sp . Mode

shall be disallow=17000 disallow
.

All-2 entre laymur of #19000 pacy In can shall be disallow
.-



Ces Goods Duch= 11000/- /FM = 9000) & & mut to9 ay
Devika In cash 911000 In a single day ,
show Ton Implicator

S -40112)- Ess . Payme to Relative disallow = 2000
.

S-4OAC3)= Not to be Apply - balance Exp 9000 pard is lash
Shall be allowed

S - 40 A13) => (11000 paynet Is can is volapor S40A13)of
nece entre payment in 11000 shall be

disallower .

Int/salary Recuvey to Parmes-> PaRo
↳> Indvidual ->slas=> BRL= 2.50L

Et/salary Pay by fire areend
is Pes e



S:40 167 1 .02 = 12%
--
-

MWP X

Salary we => allower , sub; to Mox . of

Book Prit upto 3)=>F150000 ↳ niceneaOr

90% of BP

Balance Book Prit = 60% of Balance BP

Pin Book [Hit=> & 152

To Parmu Salary 10100 1000 L -
3L 124

H H & 60%
= 10 ,000 disallow 150000

= 720000
H Or

add back to 90% 31 in 215000Perit Highu= 210000
Hi

pox Solary => 9 ,90 1000

Total for all klorking



700000 Partne

q BP
250000

100000

(10000)

(a)

Frst 31 = 150000 or 90% 131 in 270000
win in 270000

I 510000Dol us = 60% oue is 241000

16) 250000 = 150,000 or 90 %

+ 250000 in 225000
wit in 2 ,25000

199100000 I 150000 or 90% M 100000 in 90 ,000
widy = 150000

(d) 110 ,000) I 150000 or 90% 110 ,000) in 19000)
- Wan in 150000



Mot Pryst Recuvey to Parmu from firm - amt

Ferm

h Mon Solary As per S . 4016)
salay

A 5 ,00 ,000

=>

&7 ,20 ,000
-

5 : U
B 4 ,00 ,000 9100 ,000

400000 320000

A B

firme Disalloworc= 1 ,80 ,000
-

sacay to Partne allowe
= 7 ,20,000

Tozable Salary In nords y farmer :

A = 400000

&= 320000



Unabsorbe Deprecation
↳ Dep > Profit by Dep

&ep
= 500000 H

Dep allow = Profit by dep available
Purit by Dup= 3 ,50 ,000 &

bot Dep Turney As veabsorbly dep
> allow - 3 ,50 1000 HBy -
&uD H12 2I7= unlimited
--

+Me-

U/A Dep = 150000 21F

Next year &unit by Dep -

E cy
-

dy -
-

Es vIA dep -
-

-

-

11:35 RESUMi E BOOK Quit



Meaning of Book Pyth M .N.NN . Imp

Met Profit As -

Ad Salary to per
become

T

e

-

-

Put As per I.Ton by sal to pat. &

1 If Dep
-

-Book Prit >
--

--

eq Prayer After desiteg following beep = 6,00 ,000

· Foc to Parmu a 15% 1 , 50 ,000

·

sacary to Partie 9100 ,000

· Commission pacy wo deal TD's ofs India 100 ,000

· can payn, for purch In a single day 50 ,000

now y it Fe. atYe88-

-Calculati Scary anowey to Game I also calculate



solufor
-

calculation of Book Port

Profit 6100 ,000

Ad realess Fo .2 to Palme
1150 ,000

x 3% 30 1000
-

15%

Ad Salary to Partne 9 ,00,000

And comm , gar of India who Tips s .40 casi 1 100,000

Ad can Payout for Purch Sones 50 ,000

Perpet by Salary to Partner 16 ,80 ,000

less BIf Dep 1 ,90 ,000
-

BOOK Parfit > 14 ,901000

No Salary As per s4ols=
Art 32= 150,000 or 90% o 32 Wen in 210000

ball 11.902960% - 714000

Mon Salary -> 00
-



Salary lar by firm to Payne-qu

How . allower As pu noss)
= 9 .such awar

=> *9

* calculator of become u qUBP
Short let

Permit 6100 1000

+ 10 . 2 Excess 3% 30 ,000 &Isal1 : BOOK Post 14
,
90 ,000

D
↑ Comm of India WTD> 100000 I Ra I (-) Sclay to Partner (9 100 ,000)

50 ,000 ( > BIF loss 50 ,000)↑ con paym, For purch -
780000 PUBP -> 5

, 40 1000
-

Gre BI Dep 1 ,90 ,000
-

[-s BIF 1033 50 1000

PUBP -> -000
-

eq Part After desitig following keep 9540000

Hw · IOC 14% to Farmer -280000
--

O Salary to Partne & 9 ,90 1000

X

Salary to E par In India wo
TDS & 2 ,00 1000

Grenhng statory re * 1 ,90 ,000X 2 D

↳> (Paynet Made to Brothe In law= 1 ,50 ,000)



Calculate · Book Profit
· solary allower to Partne
· Income / PUBP

5 -36 E cost to App . GF/App Sat-allowed
-

-

Er cort to reapp ur/ Unapp Sat= Not allowe
H H

YOA(T MOA 197

21-22 22-23 23-24

X Hi

Purch 25k Pu = CA-fored . Result
to wel- 25k celebrate

& 12 lasilly 25k
topul 25K : waive of .

& 12

↑ las;
ave zen



Sp . Emp Monfley up 43B
↳ Dey allower is by In which exp is wirey provider

keep pacy upto RAD
.

If keep pain Afte RED - keep allow in the year of
paynet

RFD= 3117124

MT Dr . to &Ih &423-z

* 10 ,000 - 6000 paud or 1424

-4000 pay or 19224

py 23-24 = 4000 disallowers is Art Pay After RAD
H

flower in year of Paynet in byzu-25



keep Monfel ~Is USB

L L
-

4Out Ex Bonk/Fir . Int Idion
-

Tones/Cess/ fees · Bonus/commission Railway
· Ed cont to PF/GF/SA"Into cap ,borrowed · Asset
· leave Encashmet used

S Indian

Payment to Railway
MSM

B .0 .B loar

Is of let As or 31s/ey -> 102 Restructuring
B .OA

↳ convent Into New loor

of Int 102 Not Corviduel As

-

⑧
X on 15524

TO 1001 10h paymut for purpose
of 9.431

↳
2 Installnet Pay = 5000s each

=100000



2 mins Summary
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Topic &weston
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